>
A & 0l & AF 2 E A A
20158 = S0la LA MK
AN HEX 0
HE: @2 2 MEHS SH(SILDZ/AS)
Sl NSMBHSAL 25 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= Xl 2t 6,614,652 7,246,089 A 631,437
Xl 90,000
J| 150,840
< 508,061
Al 5,865,751
HE L MEHs S4(2std22/H=K) 6,517,052 7,036,969 A519,917
X 90,000
J| 150,840
< 508,061
Al 5,768,151
NYHESHSAE &5 1,821,345 1,170,961 650,384
Xl 90,000
= 350,000
Al 1,381,345
MEICXNSHEH 222 219,809 209, 201 10,608
101 14 dl 111,845 103,461 8,384
04 JIZHHZ2Z2XNESE S 111,845 103,461 8,384
OAE=EIXHFSHE 2l 35,673
o2y 44,6403 «2H +233 20,803
oFXtrg 44 6403 «2H 482 4,286
oIt 44 640 +2H x102 893
S e =] 66,960 «2H 48 6,429
oI0AZIS AHEE = 25,089, 000% *13% 3,262
OMEZCUNSHEH HMSZZ2OSHZA 76,172
o0l £ 58,030 *3H »233 40,563
oFXtrg 58,0303 «3H x48L 8,357
oIt 58,030 «3H 122 2,090
oxdI2ESH 87,0453 «3H x48L 12,535
o A2+l =& 10,8803 «3H 4 Al 2t <48 6,267
o=x0ldg S 4HEEE 48,920,000 *13% 6,360
201 Let24d] 90,964 83,740 7,224
01 AL 22l 20,400 24,140 3,740
OB+t 12,000
oZVUMSHE 2E2E FL(HUARE B
22 M) 7,000,000 7,000
ocEAZHIESEB(ESEKX,0XE &)
3,000,000& 3,000
ot ¥ SE3 FAH 2,000,000& 2,000
O= &l 4,200,000 4,200
ogxz 4,200,000 4,200
02 2324l 70,564 59,600 10,964
O=gxNsdH 29 61,824
oclIIR3 4,000,000 x12& 48,000




2AM: XA D
HM: M2 L MEYE 4 (2Y2Z/AF)
el NUHBHIAL 25 CUR-E)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oilol+E 23 600,000& x12& 7,200
cEHAMNEREEZ 200,000& 200
oxgdYs 22yl 40,000 = 12& 480
oXMI|otMY ABOIMESIHl  160,000& *13] 160
oMIISE FUA(SENSSAACIEE)
2,410 *x2000 x12& 5,784
O A& &H| K X Hl| 8,740
o=mAXFHEH AIE2 SXH| 2,000,000& 2,000
oMI| QMR BASE 300,008 *128 3,600
o5l AEBWYLLE
120,000& = 12& 1,440
oXMI|x=HAHl HIIZA =5
700,000& *13l 700
oAYMAEUEH 2 1,000,000& 13| 1,000
206 M = dl 2,000 2,000 0
01 = bl 2,000 2,000 0
O=0MEdEH22 HE 7 2,000
oZXYI|F wHl 1,000,000& 1,000
oc2IIF B 1,000,000& 1,000
401 Al HI YL 2 0HHI 15,000 17,000 A 2,000
01 A& HI 15,000 17,000 A 2,000
O=0MEHH RAE2> U 15,000,000& 15,000
MeEds g2 AA 50,480 51,760 A 1,280
201 et A | 19,480 19,480 0
01 AFR2t2l bl 19,000 19,000 0
Ogst2H| 16,000,000& 16,000
O3 &l 3,000, 000& 3,000
02 =294l 480 480 0
OB232=2L M Al 480,000 480
202 04| 28,000 29,280 A 1,280
01 2L Y| 28,000 29,280 A 1,280
oOZA=&0 Y| 28,000,000& 28,000
203 R =&H| 3,000 3,000 0
03 A =X R =XH| 3,000 3,000 0
OHZAL ASBAN SX ALEX
2,000,000& 2,000
OMESAE =48 gRFA 1,000,000 1,000
DUMEH ALY XM 700,000 400,000 300,000
& 350,000
Al 350,000
401 Al HI L £ 0HHI 700,000 400,000 300,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 350,000
Al 350,000
01 A& HI 700,000 400,000 300,000
O=2ddENsAE =4 700,000,000 700,000
< 350,000
Al 350,000
MEHLUAE HES 101,056 210,000 A 108,944
401 AIEHIZL 2 0] 101,056 210,000 A 108,944
01 A& Bl 100,329 208,500 A 108,171
OASHILIAZT HE (20142 S0l A S & & H 31
,056& &) 100,329,000 100,329
03 Al 2 THHI 27 1,500 ATT73
OAMEHUAE HES 727,000 727
2HMETYSAE =4 300,000 0 300,000
Xl 90,000
Al 210,000
401 Al HIZ 201 I 300,000 0 300,000
Xl 90,000
Al 210,000
01 A& HI 299,000 0 299,000
ORFTMHEHSAE =4 299,000,000 299,000
Xl 90,000
Al 209,000
03 Al 204 1,000 0 1,000
oO=gdENsAE =4 1,000,000& 1,000
MNMESE2SE 22X e 200,000 0 200,000
401 AlSHI L 2T 200,000 0 200,000
01 A& HI 198,560 0 198,560
OANTEESE2SHEEXN M 198,560, 000& 198,560
03 A& =2 THHI 1,440 0 1,440
OMBEEZE2SERA HY 1,440,000 1,440
SXNE Hs32 =24 50,000 0 50,000
401 Al H L 2T 50,000 0 50,000
01 A& tI 50,000 0 50,000
OsXE HM=s32t =4 50,000, 000& 50,000
MEZTR HESAE 83 L Fy| 200,000 0 200,000
401 A& HIZ 201 I 200,000 0 200,000
01 A& Bl 200,000 0 200,000
OMEETZ MAZFALE 43 2 FH|
200,000, 000& 200,000
HMEAIE 22 & WS 4,079,572 5,202,388 A 1,122,816
J| 150,840




2N
X ZH -
L= B

el

= X2 o
2 2 HEHs Sd(2L2Z/HS)
SAE 2el ¥ AWHIHE

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
[ 158,061
Al 3,770,671
oM E 243 KNS 28,000 24,922 3,078
& 3,279
Al 24,721
301 et A= 4,000 4,000 0
09 HAIAHI BEAZ 4,000 4,000 0
OXC HM=UHE =S84 AH B4
4,000,000 4,000
307 2iz2to| A 24,000 20,922 3,078
& 3,279
Al 20,721
02 QIZ2IA AAIE E X 15,000 13,000 2,000
odd =012 =g =& HUX&
4.,000,000& 4,000
OF Z0je MEMSUHE &8 FHXNE
4,000,000 4,000
0&dY =012 =2s & AFH XN
3,000,000& 3,000
OAlZ &0 MEXMSUHE =& HH X
2,000,000 2,000
O&e &2 =& AUl X
1,000,000 1,000
OAZ2ZE0H AIOIZ2 U3 s&EH XA
1,000,000& 1,000
03 QIZIHEHESIHIEX 9,000 7,922 1,078
OHOMC M=Es0te &5 I 9,000,000& 9,000
c 3,279
Al 5,721
ALY ASEAY 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
02 QI2AtAMAIE E =X 30,000 30,000 0
OAZ=ZY XA 30,000,000 30,000
MEH=EE 4 K2 32,500 22,000 10,500
= 6,500
Al 26,000
307 2Iz2t0| & 32,500 22,000 10,500
= 6,500
Al 26,000
03 QIZI X HAESHHIEX 32,500 22,000 10,500
OANZMENSUS XS 32,500,000 32,500
= 6,500
Al 26,000
24 HM=sg2s A 121,440 121,440 0
J| 60,720




M HEXH B
M M2 2 MEHs SH(2Y2Z/Hs)
S MSALE 22l 2 AWEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 60,720
307 21201 A 121,440 121,440 0
J| 60,720
Al 60,720
03 QIZtHNHE2IHIEE 121,440 121,440 0
onzd dEMSAE=X BRI 121,440,000 121,440
J| 60,720
Al 60,720
MeEXse T X 19,440 19,440 0
= 4,664
Al 14,776
307 21201 A 19,440 19,440 0
= 4,664
Al 14,776
02 It S AIHE L 19,440 19,440 0
OMENM=sZzId 22 19,440,000 19,440
< 4,664
Al 14,776
AW MEMSNEK N 121,440 121,440 0
J| 60,720
Al 60,720
307 glz2tol & 121,440 121,440 0
J| 60,720
Al 60,720
03 SIAHNHE2IHIEL 121,440 121,440 0
OMEMSX =Xt BHXI 121,440,000 121,440
J| 60,720
Al 60,720
MEH S WA 20,160 20,160 0
< 4,838
Al 15,322
307 21201 A 20,160 20,160 0
< 4,838
Al 15,322
03 QI HE2IHE xR 20,160 20,160 0
odaENsuns 299 20, 160,000& 20,160
S 4,838
Al 15,322
AZXHIRSH™ ALY 42,000 40,320 1,680
J| 29,400
< 3,780
Al 8,820
301 gErE L= 42,000 40,320 1,680
J| 29,400
< 3,780
Al 8,820




2AM: XA D
B M2 U MBNS S(2HLBZ/AS)
el MSAL B2l Y ATRY (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 M3 EXEE G2 42,000 40,320 1,680
OAEZEHISHAIS 42,000, 000& 42,000
J| 29,400
= 3,780
Al 8,820
ANZEESSEIE X 485,000 450,000 35,000
o= 20,000
Al 465,000
301 dBtE A= 485,000 450,000 35,000
o= 20,000
Al 465,000
VU= - 22242 485,000 450,000 35,000
OAIEANE s 2H 485,000,000 485,000
= 20,000
Al 465,000
MSAIE 22 767,392 1,378,965 NB611,573
101 2121 4| 54,052 73,465 AN 19,413
04 JIZtHI22XNSE S 54,052 73,465 AN 19,413
OMSAE 2 2A(SHE) 19,617
o0l 2 44 6403 x2H 170 15,178
S N = 44 640 23 %20 1,786
oA 44 6403 x2H x5 447
o=xnUAZ S 4UEE 2 16,964 ,000& *13% 2,206
OsUM=EAIE SF3EH 22 2,946 ,000& 2,946
OZTEg2sdFH SFFH o2
7,365,000& 7,365
oddiiid=saad AU 2,946,000 2,946
Oodla==LXMl&E HMFALE =HFHY (200 A)
3,928,000 3,928
ONOIEESZE HH L =M 7,856,000& 7,856
ONE2d 22 (2HES22 ,STHS2Y)
9,394,000& 9,394
201 L2 | 215,340 192,500 22,840
01 AR 2t2l ] 20,000 32,000 A 12,000
O bt=2H| 6,000
ocHsd 28, SUHMESANE AR2E 2
5,000,000& 5,000
odtAy| LU ZE3 HAHI 1,000,000 1,000
O3l 2,000,000& 2,000
(©FIpNE=] 12,000,000 12,000
02 533294l 195,340 160,500 34,840
OZ22Z22=2L Al 130,000
olMIIR=2 120,000, 000& 120,000




2A4: MR
MY M2 U MBS S4(2HYAZ/AS)
Sl HMSAE 2ol U AHEH CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
oioleE 22Y JIE MAZ223
8,000,000 8,000
ocHEANE ¥ SUHMSAE2 MrHIISE
2,000,000& 2,000
O = H| 4,000,000& 4,000
O A& & Hl KXYl 54,840
oHMESANEF X 22 10,000, 000& 10,000
oXMJ|otM e HaiHl 300,000 x50 A~ x12& 18,000
o) otM Zte|th &yl
180,000 x4l A~ x12& 8,640
OoHSALE AY™UNMAZ
1,000, 000& x5l A~ 5,000
olMI|x=&MAEH HIIHAIZ 800,000 404 & 3,200
ocEERIHUAIAE KX 10,000,000& 10,000
OXtgrH ehy] 6,500
oXHRFUH 4,000,000& 4,000
oty 2|, SA22ldl 2,500,000 2,500
206 M 2 Hl 12,000 7,000 5,000
01 X2 H| 12,000 7,000 5,000
OHd=s=a & 2& XM 2
5,000,000& 5,000
OM=Es2 ¥« sUMSANE EXH 2
3,000, 000& 3,000
OBX=ZE3H % SUNEAE SN 2
2,000,000 2,000
OMSANEE Y4 Holg 5242 W2 7
el ,000,000& 2,000
307 2iz2tol A 200,000 200,000 0
05 QIZ2tRE 2 200,000 200,000 0
OMMIEIESSSEH ATHEELC {2
100,000, 000& 100,000
OMBESE2SZE AIHEERLC QEH2AZ
100,000,000 100,000
401 AlEHI 2L 2 0HY| 260,000 886,000 A 626,000
01 Al&H| 260,000 884,488 A 624,488
OHNOIEEH B4 & A 10,000, 000& 10,000
o=+ &X 40,000,000 40,000
OsUMEAE AL &L M|
40,000,000 40,000
OS2sH Mz S M2HANLEE RAES
2 A 40,000,000 40,000
ONMESZ2L AN SAIEE S Y A
40,000,000 40,000
OS3sY SEHSSY ZT&E XHAX
25,000,000 25,000




2N
X ZH -
L= B

el

Fan;
Y NS SE(2FL2Z/HR)
& 2e & AM=EY

5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OdEZN=Z S& =3 A 50,000,000 50,000
OME MHEZHS2 BANHISAH(LH)
15,000, 000& 15,000
405 TtHabH S| 26,000 20,000 6,000
01 XML = ZFH St 26,000 20,000 6,000
OoMsz2 & 2% HE5+Y 5,000,000& 5,000
OoMs2 dA% 2371+ M ¥ 2
10,000,000& 10,000
OMSAL2CS dsHUAI F
1,500,000& »2CH 3,000
OZE2sd EMAMsSI 2
3,500,000 »2CH 7,000
OM=sAZ22E FI 2 500,000 «2CH 1,000
=9 M=ds XA 173,200 123,200 50,000
201 LBt2d| 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
Od=2 & EHe s dHAH 29 5,000,000 5,000
301 L2 A3z 3,200 3,200 0
09 ALAHI B &= 3,200 3,200 0
OXR(Z)HS MSHA A AH B4
3,200,000 3,200
307 21201 A 165,000 115,000 50,000
02 UAFAAFEX 10,000 10,000 0
OX2(Z)Ua R & e 2FHl X
10,000,000 10,000
04 DIZHHALALSE E X 155,000 105,000 50,000
OHMosl M=M=l s=dE ZH XN
5,000,000 5,000
Od=d=AHUI =X A 150,000, 000& 150,000
NEetel M=sds XA 437,000 525,000 A 88,000
307 glz2tol & 437,000 525,000 A 88,000
02 PIZHEHAHE L 427,000 515,000 A 88,000
OHMb54sl TCMAE sd&ds E&H N2
60,000, 000& 60,000
OHMb4sl TCMAE EHEH L 4225 7€
5,000,000 5,000
OHMb54sl TCIMAE s=&d3H XN
160,000, 000& 160,000
OHMb543 SRIMAE &I AlAZ 7,000,000 7,000
OXNb54sl TIMAE =6+ S4H|
150,000, 000& 150,000
OdXEdE ®wx34 XA 20,000, 000& 20,000
OHM=el ZA&Ual JHxIZH XI& 5,000,000& 5,000

_8_




2N
X ZH -
L= B

el

5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OA M=zl 3J18 &g& K& 20,000,000 20,000
04 DIZHHALALSE E X 10,000 10,000 0
o2& Ms#HA(HSE) SLXI 10,000,000 10,000
SHE 54 703,000 287,000 416,000
308 XXM SO0 A 703,000 287,000 416,000
08 WEJ| 202 X 703,000 287,000 416,000
03ddg =-38w MsUa & 3H N
10,000, 000& 10,000
OSDHS SHES L -5 -1 5727 5
DNE-: 150,000, 000& 150,000
OANdENEHI = -t SEgHdsUHI N
12,000,000& 12,000
ousZll USXNAHEUEY MU X2
5,000,000& 5,000
OERNEEN EH4E5=E =&l N
70,000,000 70,000
OSNMSALE(HSHLL )L N2
200,000, 000& 200,000
OHBBLYSSH ZHANY X
100,000, 000& 100,000
OU=H2SE &IAME X 100,000, 000& 100,000
OdFEZINSs W HMEZANLES XE
30,000, 000& 30,000
O NSE=0AIE &X 26,000, 000& 26,000
MeEtxsa X3 231,000 238,000 A7,000
307 21201 A 231,000 238,000 AT,000
02 It S AHE L 158,000 238,000 280,000
OZdg HZ24 MEH=sUs s=d3H XA
20,000, 000& 20,000
Os=2g MEM=0a Zdl XA
12,000,000 12,000
OLthe MEHN=sUS =dAH X
8,000,000 8,000
OHM26s & MEMEUH =&8ZH X2
90,000,000 90,000
oOdMEN=s E=28 ZHP2H XA
3,000,000 3,000
OMEMEXN X &4l NA(HRIMAH])
25,000,000 25,000
03 BIZIFH B E2IHEX 73,000 0 73,000
OMEAIMEM=S 2ZH XI& 73,000,000 73,000
A -HH H=sg2s sS4 177,000 165,000 12,000
307 glz2tol & 47,000 45,000 2,000
02 It MAHE L 32,000 30,000 2,000




M HEXH B
MY M2 U MBS S4(2HYAZ/AS)
Sl MSAL B2l YL TS (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMEAINS2 AIR= 212H| 32,000,000 32,000
03 QIZtHNHE2HEHE X 15,000 15,000 0
OMEAIM=S 298 XA 15,000, 000& 15,000
403 MtXISHHE =01 & 130,000 120,000 10,000
02 S| 2 S0l CH&HCH & A B 130,000 120,000 10,000
OASAZ=HE +=3F 2dH X&
130,000, 000& 130,000
MEL-S0I2tEUS XS 126,000 126,000 0
< 5,000
Al 121,000
201 ¢4l 6,000 6,000 0
03 A2 Z Hl 6,000 6,000 0
OMEL-S0IctENS 29 6,000,000 6,000
307 21201 A 100,000 100,000 0
< 5,000
Al 95,000
04 QIZFHALAIH B = 100,000 100,000 0
OXM102 AT =S0tctEUE M=l
100,000, 000& 100,000
< 5,000
Al 95,000
401 Al HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OHM108 MEC-SOIAEUIE LA HIISH
L DA LA 2SS EX 20,000, 000& 20,000
d=S&03 KA 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OHM73 AEAZH &=2S&UE X
10,000,000& 10,000
H=HCHHAICHE XI& 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
OHM29a! MEAIEI EIBICHHAILE JHA
10,000, 000 10,000
HdI0t0LF=H HAAZ XS X2 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OHM63l AFEAIZE 200 HAAZEMY
3 X& 30,000,000& 30,000
dIozel s0s XA 10,000 6,000 4,000




2N
X ZH -
L= B

el

=X
HE 2 HEHS SC(2L2AZ/HS)
HEAE 22 & AMsd

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,000 6,000 4,000
04 RIZFHALAIH E = 10,000 6,000 4,000
O2015AI A ZH 82222 s32UE X
10,000,000& 10,000
AMeM=C=a H= 280,000 250,000 30,000
307 glz2tol & 280,000 250,000 30,000
04 DI2HHALALSE E X 280,000 250,000 30,000
OHM 153 AlSIM=U3 =l 280,000,000 280,000
nsstn AZ=30t2l e dsUal X 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OHM128] MEAEIN(SLUME EX 4 HY)
nssty AZEZF0tel e M=0aE =
20,000, 000& 20,000
ESE ANEI Ms0H KA 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIR B & 30,000 30,000 0
OZ=E ANZEI HM=Us Hzl X
30,000,000& 30,000
etEL HIEHM XA 10,000 6,000 4,000
307 21201 A 10,000 6,000 4,000
04 QIZFHALAIH B = 10,000 6,000 4,000
OMEBEASLHEZ 2AE L HEM XA
10,000, 000& 10,000
AMOTEAHE XA 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OMEAIXNEHAG S MBI HEXN X
5,000,000 5,000
AMeri220] tHal K& 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OAQA22D|Hal XA 15,000, 000& 15,000
dIWA=22401EY sl K& 20,000 20,000 0
< 10,000
Al 10,000
307 21201 A 20,000 20,000 0
< 10,000
Al 10,000
04 QIZFHALAIH B = 20,000 20,000 0




M HEXH B
Hi: M2 2 HEHE 4 (2sL2E/H=)
S MSALE 22l 2 AWEH (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OHM128] MEAIEH &= WA=ct0lE Hal
N = 20,000,000& 20,000
< 10,000
Al 10,000
= TULSsY =203 XA 120,000 0 120,000
< 100,000
Al 20,000
307 21201 & 120,000 0 120,000
< 100,000
Al 20,000
04 QIZFHALAIH E = 120,000 0 120,000
OM2sl SHAMH M2 SDSsHM BT
120,000, 000& 120,000
< 100,000
Al 20,000
KA BEAMUOEILIATHE X 5,000 0 5,000
307 21201 & 5,000 0 5,000
04 QIZFHALAIH 2 = 5,000 0 5,000
OZ X AHHH ZEAILIGHILIATE K&
5,000,000& 5,000
==& 2el 23 616,135 663,620 NAT 485
=& el 23 521,135 508,620 12,515
101 @124l 101,163 92,220 8,943
04 JIZHHZ2Z2XNSE S+ 101,163 92,220 8,943
O+=Z AL 22/(3Y,MHE L o) 56,806
o2y 44 6403 x3H 233 31,204
o FX=rg 44,6403 «3H 482 6,429
o=30AHZz S 400 EE = 34,633,000 *13% 4,503
oAN242A2RFE 8,370 «3H #2Al 2t+48L 2,411
RGN RS 44 6403 *3H x 122 1,608
S e =] 66,9603 «3H 482 9,643
o g gl 7,000 «3H 482 1,008
OYst=Hua Gt X 2Y
6,414,000 6,414
OaU=gH HEXNZX(1Y) 37,943
=lleg 58,030& 2332 13,521
o Z A G A 100,000& «12& 1,200
ol|Z g 1,740,900 «4 & 6,964
oFXtx¢ 58,030 482 2,786
o HEFIHHI 400,000& *23l 800
oI0AZIS AHEE = 26,918,000% *13% 3,500
o A2 =G 10,8803 *8A| 2++52 4,527
o g gl 7,000 25 175

_12_




SM: MSXRD
M M2 2 MEHs SH(2Y2Z/Hs)
Sl AlSYT Bl 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SRS PNEE ) 58,0303 x5 291
S ] 87,0453 »482 4,179
201 Let24E] 378,972 377,400 1,572
01 At 2t 2l 29,972 30,400 AN428
O el 10,400
o = ZH| 8,000,000 8,000
ocdXZ(HA , HI| S) 2,400,000 2,400
O= &l 7,000 6 x24] %233 19,572
02 =224l 349,000 347,000 2,000
O=322<LHA 72,000
oMI|, =& 4otk B3 S
6,000,000& x12& 72,000
OAZHI (ZAIIEA) 150,000, 000& 150,000
O A& EHl =Xl 100,000
oS YUHIALIA B2 5= LAY FX 2
gl 100,000, 000& 100,000
O Xt& & Byl 22,000,000& 22,000
OE3IHI (=2 &AM, B2 JtA A2
2,000,000 2,000
OFd+E(MIItM2A2H , B2 8d
g) 3,000,000& 3,000
206 = Hl 41,000 39,000 2,000
01 =8l 41,000 39,000 2,000
O+=g8% A=457Y 30,000,000& 30,000
O2=Z& JIH XM L A 2
5,000,000 5,000
O=g% 22 43 & 23 7Y
3,000,000& 3,000
O=g& MI, A2 UM 2L 3,000,000 3,000
Alf=gd A4 2Zd 95,000 A 60,000
401 Al HI L 2 THHI 85,000 £30,000
01 A& HI 85,000 230,000
O+=g & Z4& uH 35,000,000& 35,000
oO+=gz =& 50,000,000 50,000
405 XHAHE S| 10,000 40,000 30,000
01 AL EZFH S 10,000 40,000 230,000
O+=ZH eyl 2 5,000, 000 *2CH 10,000
HE2HZHI (MSXAD)(IEHIIE) 97,600 109, 120 A 11,520
JlE3l 97,600 109, 120 A 11,520
o=l 97,600 109, 120 A 11,520
201 L2l 7,000 7,000 0




M MEXE 0
HAM: HH2LSLH(MSX ) (IIEH/IIE)

Y. B (3H) - HEAY - BES o A o SSa H RS2
01 AFR2t2l bl 7,000 7,000 0
ogst+2H| 4,500,000 4,500
OZ &l 2,500,000& 2,500
202 04 b] 86,400 97,920 A 11,520
01 2LHHI 86,400 97,920 A 11,520
oUWE& NI 240,000& 30 x12& 86,400
203 ¥ R =&t 4,200 4,200 0
04 ENSIHR=EY 4,200 4,200 0
ORNMEY g2= 4,200,000& 4,200




